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1. The account that includes the imports and exports of visible items
during a given year is
a. Current account b. Capital account
c. Trade balance d. Account of trading
T SLewiged &Temid OuUTBL Helled gmmILg WLBHBID EBéHGs  FTHs
B
a. [BLLIL 860G b. cLpeOHET HEWIS G
c. @lWTUTy Hewidh&) d. ppemev HewisG

2. The highest policy making body of the Asian Development Bank is

a. Board of Directors b. Board of Governors
c. Board of members d. Board of Advisors.

o Fw Cubum G eumdluler o wit OFmeTensd 61BHBD LDeTBHSHIT GILIWIT
a. BUSGBITSET eumTluib b. SLEBBTH6T eumfuiLd

c. o mIINeTaeT eumfuib d. oGeorgsiTden eumfluib

3. The world Bank has a membership of

a.182 b. 192 c. 190 d.172
® 60% MU 2 66 2 MIIN6IT 616061601 &6emD
a.182 b. 192 c. 190 d.172

4. Comprehensive liberalization measures undertaken to improve the
supply side of the economy exclude
a. trade and capital flow reforms b. industrial deregulation

c. fiscal adjustment d. financial sector reforms
BITL_196VI6IT6N aupmIseL  GobummE DIMAHMBUD 2 _6iTenL Sl
S BUUTLBB SHe SDSHHEmILIBBIeT 6% SHenL WiTg)?

a. ellwmumy BmIb cpsuHent GUTHG LOTHSIULIEHLOLIL

b. SITeTOWIOTSSLIUL L COHTIHe0emLOLIL

c. pFHamT FfdHsl 6o

d. pgsems Fyenioliy]



5. State which of the following statements is not correct:
a. Globalisation leads to rapid growth in international financial
transaction
b. Globalisation is characterized by fast growth in trade among
multinational corporations
c. Globalisation resulted in diffusion of technologies and ideas
through globalised transportation and communication system

d. Globalisation identifies emergence of local markets
SIDHBTEAVID AUTHBUIBIBEHET 6% Ffl D600 ?

a. 2 _6UBLOWILDTHSHED LiesTeunTL (b 133 ufleuT s emerenl QUG &
QaFuigleiTengl

b. 2 cusubTdsed P B0OTE  alenTEFHenul LT B  [BIBIDHIGEHHE
QULDBIBIU|6ITET G

C. 2 6uaLWITHHT  almeTars, OCFHTH0 HILUIPD — HHHSHIHEMHLD
o eusenmalw  CuUTdGarsHs LBBID OeTmed  OHTLTLY  epeVLD
aTeLBeuTemU D CF TR HBSH)

d. o cuslowioTssed 2 6iienT alBuemer 6I(oBlenew GLBDIeTENS

6. TRIPS pertains to patents and copyrights where protection will be
available for
a. 20 years, 50 years b. 50 years, 20 years

c. 20 years, 40 years d. 40 years, 20 years

TRIPS &1 &1 sriyflento  wBpid  uHlyflend  IHHmen  DLemIHHEHDHE)
SHTHBLILBLD?

a. 20 o ewibaeir, 50 o)em1bHas6NT b. 50 oyewibBaseiT, 20 £601(HSH6T

c. 20 &ewi(hdell, 40 & ewiHEH6N d. 40 syewibsmeir, 20 &6uT(HSH6IT

7. Export oriented units have been allowed to sell products
manufactured by them in domestic tariff area upto a limit of

a. 70% b. 75% c.90% d. 100%

IMBBILLHHHTH ® (HEUTSHSBLILILL [H D161 GTRIG 61T SHTMRISH6I SW&hsH
QUTHL BN 6lhdH FHAHHHME 2 6T HTemeu @ HHev alBEHevTID?

a. 70% b. 75% c.90% d. 100%

8. UNCTAD, 1964 was established with members accounting to

a. 146 b. 164 c. 166 d.172
UNCTAD, 19641D ,6001(H 618 FH M6 o miiierTsenern Oamewi(h
o (HEUTSHSLILILL HI?



a. 146 b. 164 c. 166 d.172

9. IMF created a special type of money to add to the reserve asset is
a. Special Drawing Right b. Special Deposit Right

c. Special Drawing Reserve d. Special Disposal Reserve

IMF o houtdhdlwl  cpeoder Sl  OCanshai el  Caidbsdbamigul  Fmly
aensWITer OITedsHAHer GILIT

a. Fply euemyHe0 2 flewio b. Fply emeuli] o Menwo

c. By euemIHeD cLpeuFHent B (HLUIL d. Fply ST cpeoger S mliL

10.The Facility that is meant to receive or make payments of repetitive
nature to or from large number of persons is
a. National electronic fund transfer
b. Real time gross settlement system
c. Electronic clearing system
d. Internet banking
LUew  BUTSHEMLIBHH OSTLT  BLeUYHMBWTD OCFHTmsmul  OlFesHHa D
AUMRISAD Fnlgul eUFHDG, elesTedl GLILIT?
a. Capdlw Weienaml Hig IHBLD
b. sflwmen GByHSHe0 CLTISHSHINS HT6| STEWID (LPeHH
C. Weliemaml & (s
d. Benemtigen eumis

11.Match List I correctly with List II and select your answer using the
codes given below

List I List II

Particular Deemed Assessee

a. For a minor 1. Agent

b. For a non resident 2. Executor

c. For deceased person (with will) 3. Guardian

d. For deceased person (without will) 4. Legal heir or eldest in
the family

Codes

an o
W N~ WY
N WD =g
— R W N O
RO N N



ulguied 1 & ulwed 2 o Ler Oummsbs, &6 CarThasliul (Beien
GPuibhamensd Osmemi(® Fhwmer alemLenuld CHTHOH®

U Quiey 1 UL 1Quiey 2

(@MY (eufl QlFISHBILI6UT)

a. @ereu 1. (pseuT

b. @bHwmaled eudldbaTHeuT 2. QFweouBSHSILIeUT

c. ®mbHauT (2 _uledi 6ir) 3. UTHISTEUEVT

d. @phseauT (2_ulled SIBM) 4. FlLoug eumfleaargT . @GEUSSHe0

(Wi

an o
W DN~ WY
N WD =g
— R W N O
R T N9

12.Which of the following items comes under the concept of income?
L Profits
II.  Profits in lieu of salary
.  Dividend
IV.  Any allowance given to the assessee

Of these:
a. I, ITand III b. IL, IIl and IV
c. [, IIl and IV d. all of these
SLPAUHLD LILIQUITIeD 616m& U(HLOTEIOTS  H(HFHEVTLD?
L 6VMLILD
1. FIOLGTHSHMBEG LIS GUTeT 6OTLID

OI. ukIE SLSTUID

IV.  uehslug, eufl CFeHSHILOIMHEE aUPHISLILGMIS]
a. [ II wpmw 11 b. IL, III wmpid IV

c. L 1II wpmpio IV D. @emeu SIeHelSHGID

13.Given the following calculate taxable HRA of R working in Mumbai:
Basic salary Rs. 10,000 pm
HRA Rs. 2,000 pm (Rent paid Rs.3,000 pm)
DA (forming part) Rs. 3,000 pm.
a. 24, 000 b. Rs. 20, 400

c.Rs. 3,600 d. Rs. 7, 800

SpHHemiL  aleugmiseiledhbah Hm. R eeiueufler eufl OCFeishddbamigul 5
Al B euTLemnaliILguiene Heul(BLILY:

SlgliLienL. FbUemD ¢F.10,000 THSHHBE



QLG euTLemsliy 52,000 wWISHHBEG (CFSHID euTLms  H.3,000
o155 BE)

UEhFLILIY (FIOUMSHMBF FMHHHI) 053,000 WIHSHBSG

a. 5.24,000 b. €5.20,400 c. 3,600 d. e5.7,800

14.Tax is chargeable to a person who is a doctor under the head

a. Salary b. Business

c. Profession d. Services

QRH W(HSHBHNHEE 6hH Hmeoulsr S eufl au@GelsslILbGHBHI?

a. FLDLIeLD b. elwmumyid c. Gampled d. Grema

15.Tax deductions allowed in respect of donations relate to

a. Section 80 C b. Section 80 G

c. Section 80 D d. Section 80 E
BOTOBTML &G 6hd Llflalear S afdsife) oefssiubGapg”?
a. Ifley 80C b. Ufley 80 G

c. Ufley 80D d. Ufley 80 E

16.The full form of CBDT is
a. Central Board of Direct Taxes b. Central Bureau of Direct Taxes
c. Central Board of District Taxes d. Centre Board of Distinct Taxes
alfleuré@des CBDT

wHHW CriTps eufl sumfl SjevIeIEVSLD

wHHW CriTps eufl HimieueID

wHHW wreul L eufl eurflul Blpieuestid

WwHHW Heollu L eufl eumflus BHimieuestid

an o

17.The Tax authority which comes into contact with the public, having
primary authority to initiate assessment proceedings and make
assessment is
a. Tax Executive b. Assessing Officer

c. Chief officer d. Deputy officer

QuTgl el OFHTLTY OCaTewih, (WHetemo o flenujler HIITH
BOL (pemB  Hleudbs, Ghryyg WwHIIH CFuiueuT

a. eufl GeFwedLBSHHILIeUT b. LHII B DigdieueviT

c. Guweiteno SiF&m d. FHImewT SIGVIGIGVIT

18.What is the due date for filing of returns in case of an individual?
a. 30t September of the Assessment year
b. 30t April of the Assessment year



c. 31st December of the Assessment year

d. 31t July of the Assessment year
el BUT eupomer eufl oPibensd uFHe OFUIL HenL gl [BI6T 6157
a. GauLur 30, LHUII B eIl b. gligev 30, wHUI G SLewiBH
c. ggbuT 31, wHNI G e 6 d. sgremev 31, WHII. B 6w

19.Any person who is responsible for paying to any person any income
by way of winning from any horse race can deduct tax at the rate
prescribed for such year if it exceeds
a. Rs. 2,500 b. Rs. 7, 500
c. Rs. 5,000 d. Rs. 10, 000

QUHAUT  LOBBEUHBE GHHMIL UbSHUSHH60 aUIHD 6U(HOTOISHMS D6l EGLD
UL gHHe0 aufl alevdd SleMdbGld DHBULF OHTend

a. Rs. 2, 500 b. Rs. 7, 500
c.Rs. 5,000 d. Rs. 10, 000
20.The powers of the Income Tax Officer do not include
a. power of Civil Court b. Power of Criminal Court
c. power of assessment d. power of search and seizure

aupLoTereud  SlgvieuenT &6  OETBESSLILL (helTen o Menseailed  6hS
o flemoenul Gl&mTeuTighHHHaT606m607

a. HOL(lpemB b3 o fleno b, @Gmmelwed BB 2 fleno

c. HeudhSHL([H 2 fleno d. CaBzev WBEBID maIUBBID 2 fenld

21.The market that enables traders involved in foreign trade to get their
currencies converted into foreign currencies is
a. Foreign exchange market b. Financial market

c. Capital market d. Bullion market

QM UeTeIml (B euTeniuSH o0 FHUL (BTN eumeiuT @baUl  [HTesTuld ) eneot
abHF FHemHuled OeuelBTL (B HTEOTUILOTS LOTHBMIGUTT?

a. GeuaBT (B LIBBIFSFHMS b. HHEFFHMS

c. (PpHeSL(b 8HMS d. yevelwesr &Fhens

22.The approach that considers all the middlemen and institutions in
distribution channel is
a. Management approach b. Commodity approach

c. Institutional approach d. Functional approach

6T6L6VT @Bl HHTHTHMENMUID  OBBID  HIBICUSTRIGMETULD 2 6iTeNL Sl
LUFeUeUTEHGLD  euldl(emmulledt GLIwIT

a. Gevmexienio (Lpemm b. auewilad FIHEG (B



C. [HBIGUET (Lpenm d. Geweoum’ B (wemms

23.The variables - life style, personality and values are considered for
a. Behavioural segmentation b. Demographic segmentation

c. Geographic segmentation d. Psychographic segmentation
AUTDEHMS  (LPDMB, DLEHMOSH HWET OBBID HEDBMID DS SHITJ6001H6D6T
® GTeNL &I FhHhewd UGLIL

a. bLHMSG FMThSH Fhend LGLIL

b. W&H&MOHTNS &FNMHSH FhHend LIGLIL

c. Yalanhs Fhend UGLIL

d. geps 2 emalwed FhHend UGLIL

24 A pipeline through which a product flows on its way to the consumer
is

a. Middleman b. Retailer

c. Channel d. Distribution
Qm CummeT mSTCTENTF OFamenL D euflullesr GLIUIT
a. QL SHFHTHIT b. &levevemm eumemIILIT

c. aup d. LIeuevTsEHa60

25.The recent innovation which combines the features of a supermarket
and general merchandise store is
a. Retailing b. Hypermarket
c. Chain store d. Departmental store
giusbHev yHsries Coramw, HApBly omsTg  Suisdysend  Cung
aurenflud HenLullelr GuieoLsend CaTbhsd @hH DM 6IMS
a. Flevevemm @IWITLITILD b. fmpiy Guymismiy
c. QFHTLT OmISMY d. UELOIT(HET DIBIBTIY

26.Price that is fixed at a full number is known as

a. Customary price b. Prestige price

c. psychological price d. odd price

(W eTewieniTd HifewrulbsiuB alleneoullssr GuUWIT

a. GUIPSHBIOTET 166V b. Omengeu allensv

c. 2 enalwed alensy d. upsEsHHMBEG GUTHHSTH allenev

27.The full from of AIDAS is
a. Attention, Interest, Desire, Action, Sale
b. Attention, Involvement, Desire, Action, Sale
c. Attention, Interest, Desire, Action, Satisfaction



d. Advertisement, Interest, Desire, Action, Sale
alfleurs@ AIDAS
FTOL, SLTeUD, SLend, CFuwed, almuene
FTOL, FOUTH, g, CFuwed, elmuene
FTOL, SLTald, Seng, GFwed, SHmig
. allembuyd, SiTeud, emg, Fwled, ali3LIeneT

a0 oo

28.Sandwichman advertisement is a form of
a. Indoor media b. Outdoor media
c. Direct media d. Display media
lembLITs GH(WHH6T 6hd eUMBMWF &ibSH allembuyd?
a. OI& QleMbUJLD FTHEID b. UB elembuyd &TgHed
c. GpTpens grgHed d. &sTld FrgHeb

29.The reading matter in an advertisement that attracts the attention of

readers creates confidence and urge to possess the product is
a. advertisement message b. advertisement media
c. advertisement value d. advertisement copy

allenbuySHSHevelien  uTFleHHd dnlgul  SHB6UL uUTFLILIID]  HUTHH(DSHS,
BOLGHMS 2 (HauTdd SbFHL CUTHemeT aIMhISSH SHTMIBGLD HBHEUISHGLI

QUi
a. alembuy GFu1g) b. aflembuy eern &b
c. allembuy &I d. elembuy BHH6L

30.The rights of consumers under consumer protection Act, 1986 does not

include

a. right to safety b. right to choose

c. right to purchase d. right to consumer education
mISTCauMT o fenmiod &Ll 198661 & 6hsH o Mevw mHSTCUTHGHSE
SlemLwimg)?

a. UTgISTIL 2 Meno b. CabOHHHEGW 2 Menld

C. auMRIGLD o Menp d. msTCeautT Hevail 2 _flewip

31.Co -efficient of correlation can take a maximum value of

a.0 b. c.1 d.2
QLGB OBalar DIHSLLFLOT6T LS
a.0 b. c.1 d.2

32.Spearman’s rank correlation can be calculated using which formula



2 2
236D b, R 236D
N3 —N N’ -N

d. None of these

eoiwiTCwen suflews U Bmey OB HWIBHLIYHSGHD GrSHHTLD

2 2
a. R=1—]§6?N b. R= 5363\,
2
C. R—1+§6D d. BeauBmie aHia|evemev

33.The probability of mutually exclusive events takes the value

a.0 b.1 C. oo d.2
Q6B 6IM alevdGD HBWDFFUIST HHDHH6]
a.0 b.1 C. oo d.2

34.Given P(A) = (1, 2, 3, 4)

P(B) = (2, 4.6, 8)
Value of P (A nB) is
a.1,3 b.6,8
c.2,4 d.1,3,6,8
QarhssliLlGeter aleugsder L P (A nB) eresren?
P(A)=(1,2,3,4)
P(B) = (2,4. 6, 8)
a.1,3 b.6,8
c.2,4 d.1,3,6,8

35.The different methods used to determine trend are given, which one
does not belong to the group

a. Graphic method b. Cyclical method

c. moving average method d. Method of least squares
Curdemas sewiLplub  ueGeum  (pewmEHeT  HO  HFULIL (helTererr. &gV
Caymy eyl

a. GUMJLIL (Lpe»D b. &ilped (Lpewm

c. & FUTET (LPpewm d. G&mBbHS MTHS (LPpens

36.Formula for Laspeyre’s weighted aggregate price index Py, is



LRO 2h

a. 100 b. x100
2R 0, > P,

C. &xloo d. LR %100
2 R0, 2R Q,

eomeroLlwiflesr  (pemmliLy  Hevpull L  ggmam  allewev GMUIL®B  etewr  Po
SEIL B G&SSITLD

a. M><100 b. LA X100
2 R0, 2h
c. 282 100 d. 2h0, x 100
P AN 2RO,
37.In a positively skewed distribution the value of mean is and
mode is
a. maximum, minimum b. minimum, maximum
C. minimum, minimum d. maximum, maximum
GpiTaemiiw  GasmlL(weitem  UFeuedled FIMSM S > LBWID  (LPSHIY6IT
LOGILIL
a. SIFBULQUITETSI, (& 6DBEUTISHI b. GmBTOISHI, DISHBLILIQUITEISI
C. GHOBOUTEIG!, (&6DBEUTETSH] d. SIFSULQUITETSI, DISHSLILIQUITEIS]

38.Formula for B, Kurtosis is

M U

a. —+ b. —22
M, My

2

c. s a ks
2 4

Sl £, Senalal GHIHID Fmml

M U

a. —+ b. —22
M, My

2

c. ,u24 d “-
Hy H,

39.When tossing an unbiased coin. What is the probability of getting a
head and a tail?
a.0 b.1
c.0.5 d. =
B GOBWDB  PIOIUS®SS  SEOIQEME  @bh  HOOUD, @k LoD
UMHUSMBG HIBHDHH6)| GUTUILIL| 61651607



40.Capital reduction account is prepared in case of which one of the

following

a. External reconstruction b. Amalgamation

c. Absorption d. Internal reconstruction
SLPSHHEWILUBDIGT 6IHBE (PH6L GHMBLIL HewsEG SHWTMoHSUILGHBHI?
a. Um oWl SIeHLOLIL b. B0 SemewiliL]

c. FRTULY d. 9% LB SEDLOLIL

41.Match List I correctly with List II and select your answer using the
codes below

List I List 11
a. Lighting 1. Asset value
b. Depreciation 2. Number of employees
c. Rent 3. Light points
d. Employee Insurance 4. Floor area.
Codes

a b C d
a. 3 1 ) 4
b. 1 2 3 4
c. 2 3 4 1
d. 3 4 1 2

ulguied 1 g ulwed 2 o Ler Oummsbs, &6 Cerhadsliul (Beien
GPuibhamensd Osmeni(® Fhwmer alemLemuld CHTHOH®

U guied 1 UL 1Quied 2
a. elendE 1. Bubdly WwHIIL
b. Gzuiomestid 2. OmplevmernT oT6mT6mNdHeND
C. QUTL 60D 3. alend@ll Leerl
d. OsmpeomenT &miLi®H 4. ugliLene]
a b C d
a. 3 1 2 4
b. 1 2 3 4
c. 2 3 4 1
d. 3 4 1 2



42.A company has a capacity of producing 100000 units of a certain
product in a month. The sales department reports that the following
schedule of selling price is possible.

Volume of production  60% 70% 80% 90%
Selling price per unit (Re) 0.90 0.90 0.75 0.67

The variable cost of manufacture at these levels is Re. 0.15 per unit,
fixed cost Rs. 40, 000. At which volume of production will the profit
be maximum

a. 60% b. 80% c. 70% d. 90%

QM DHoeueld @ Oummemen @ THSHIBES 1,00,000 960G 56N
sUTfd@ld  OFwedHmer OFTewiLgl. alBuUmIsH HOBM  HLDDHSHEIL
allemeolIlLl 19uled DIBIbmBUNNT OBT(HSHHI6T6NS

2_BuHFB Slee 60¢Lp 70y 80cp  90eLp
alpusmet allewsd @(H SIVG (¢h) 0.90 090 0.75 0.67

TBIUGL o BusHHF  OCgewey CuBamplu  emeysetev  h.0.15 @
SIVFBG, Hemeowlimesr GFevey @5.40,000 6hd SeTey 2 BUSHUND DIHD
L& 6UTLID &lenl &Gl

a. 60% b. 80% c. 70% d. 90%
43.Calculate P/V ratio:
Year Sales (Rs.) Profit (Rs.)
I 1, 50, 000 22,000
11 1, 90, 000 32, 000
a. 20% b. 15% c. 30% d. 25%
ool alBuemet &S HewiBLy:
&ITGVLD aliuenet (¢mH) 6omLILD  (eh)
I 1,50,000 22,000
II 1,90,000 32,000
a. 20% b. 15% c. 30% d. 25%

44.The major function performed by an entrepreneur can be clubbed as
a. Risk bearing, Organising, Innovation
b. Risk bearing, Marketing, Checking
c. Innovation, Personal Selling, Organising
d. Risk bearing, Supervising, Verifying
CaThHe0 (pemerGeuriedr (poHWI LenlH6NTd H(HSLILIBH6U6T



SILWTGLOBMBED, HiTeUTHD CFUISHED, LSHSH LIenendHeo
SILUTWGLBMBED, FHemaWIHHe0, FHuTTHHe0

UFH& Lenaride0, Gury elmusner, HiTeuTsd 6gu1ghe0
SIUTWGLBmBes, GoBumTeneuuil 60, uflFevener GFU1%560

an o

45.Fabian entrepreneurs are those entrepreneurs who

a. introduce new goods, methods of production , new markets

b. imitate techniques and technology innovated by others

c. are characterized by very great caution and skepticism in
experiment any change

d. refuse to adapt opportunities to make changes in production
formulae

STV SLSHHF M OHTH6L (LpemeatGouriT eT6dTLIGUT

a. ya OummenenGum, o BusHsl  (pwenperwiGuwim, yslw  FhengenwiGuir
SIB(WPSLILGSHSHISBITT

b. BB PwasliuGSHHW  COHTHe B LBIGM6TUD, B LIBIGEMETULD
SILLCW LWIETUGSHSHIS BT

C. LIBBSHMS HOLUPMBLILGSSHIUSHD WHaD 6IFFToHmBUL 6T  LOBHILD
FHCHBHBHILID B HLILITIT

d. oTBBEmS GBUBHHNISBETEHT UTUILILIGMET 2 BLIGHE GdHHmHISMm6T
LOMILILIGUIT

46.The common problems encountered by women entrepreneurs are
a. finance, competition, mobility
b. scarcity of raw material, family ties, low risk bearing ability

c. male dominated society, level of education, lack of support
d. all of these
&H6HT GHTHe0 (LpenetGouti™ FhHHGW GCUTHIeUTET G TUT(HES6NT6M60T
a. PP UgFgener, Gumlly, HBHID HeTenLD
b. epeoriGUTHET LBBTHGMmMB, GHBOL GO0, GemmeuTal LT  GBEGLD
SHBMED
C. SMIMHSS &Fepsld, SHTpeumerr LIQLLNSe] aipd WBBDID SLSHTaleTeno
d. Bmer SiEmTHHID

47.Equity or equity featured capital seeking investment in new ideas, new
companies, new products, new processes, or new services that offer the
potential for high return on investment is called
a. Unit capital b. venture capital
c. seed capital d. nominal capital



UBWSBSS, LS Bigieueard, LBl G, Uglw B Sisbevgl LBl
uemll  SuFWUBMSlelT LMBIE (PHL DIGLLFHI UG (PHev FTThHS  (PHeV(H
(P6ULD HeWL_HHHIngUl DIHB (PHeSL (B eUHeuTulest GULIT

a. [HBIeUET (LPFHeD b. sIemll&] (HFHeL
c. OFHTL&S ceoHen ey d. BuweoL 560&HeuID

48.The form of organization with main features like democratic
management government control, service motive, voluntary
organization is
a. partnership b. sole tradership

c. co operatives d. corporations

g0 o flewo Guevmewienio, S& &SLGUUTH, GFemeu GBTHEG, SHesTeTiTel
poeueid Gumeis SuiedLseT OFBTewIL  6u6mld DML 6UgaTe GuIT

a. Sl (B eUewld [HMIGU6TLD b. el BUT HimIeUeTLD

c. Gl (b6 FMmISBLD d. mlmiob

49.The market analysis by which all probable customers of the product
approached and their probable demands for the product are estimated
and the summed is
a. complete enumeration survey b. sample survey

c. vicarious method d. sales experience method
ghemd Splleler epeold  CQUT(HEMET 6T6V6VT  UTIYSHENHWITETMTUID  SHiGTmIH)
SlalTaengdl CoHemeusamen WHILIN (B HISHL B 0HTGHHe06 GLIUIT

a. QoTeH S eTewIewlbmeS HenTsHH b. wrgfl sensha b

c. Crypwms (penns d. alBue»er SieniLiey (LpevMm

50.Technical consultancy organizations were set up for providing the
following except
a. undertaking market research and survey for specific products
b. total package of consultancy services to small and medium
enterprises
c. capital funds

d. taking up assignments on a turn key basis
@@H@@@LU N CTFMEINH6T  UPEIGD HIBIGUTD SHLDSHHERIL UBMIGT 616D
QULPRIBTS
a. GPUILL QUIHLBEHHE FhHwd JTUIEFF WLBHID HewidbsHh
b. i Ggmfsd wHED BESST CFMPd ByeuasSBaTear PLBOLTHS
Sleyeny Cgemeu
C. CLPELHET [HFH AUPHIBEL



d. wBm ouglient uleomer @G

51.The rate of return at which the sum of discounted cash inflows is equal
to sum of discounted cash outflows is
a. IRR b. ARR
c. Discount rate d. PV index

abd aUmHUTU  aigdhdHev, SBCUTMSHW WWHTL CuBBISH SHFalHBHGLD
Oprédas 2 61 auad Qs GeuellIGUTHGID FflFwwTs E(HebEHLID
a. IRR b. ARR c. So6lEpLUY allenev d. PV index

52.Consider the following information
Selling price per unit Rs. 250
Variable cost per unit Rs. 200
Fixed cost Rs. 12,000

BEP (sales) is
a. Rs. 65, 000 b. Rs. 50, 000
c. Rs. 60, 000 d. Rs. 75, 000

SLPHHEWIL BB H(HHH60 6HM6iTH

alpusmet allewev hH.250 / SIVG

IBIUGLD GFeva] h.200 / DieVG

Bleweowimenr G&evey em.12,000

euTUIBL L BlewevLlieitel (alBueneiulled) 6l6lel6T6)

a. Rs. 65, 000 b. Rs. 50, 000
c. Rs. 60, 000 d. Rs. 75, 000

53.Which one of the following is not a current liability
a. Creditors b. Loan instalment payable in current year

c. Temporary bank loan d. Arrears of preference dividend

o1&l BLLUY QuTmiy SenLwirgl?

a. SLeHEHTT b. &LeT SHeuenew! (HLLIL| GU(HLLD)
c. HMBETIS aumdl WamslLBp d. (peTeIMenoll LIRISTSHTW [Hleveney

54.The method of costing applied for the job that is big and spread over
long period of time is
a. job costing b. contract costing

c. batch costing d. operation costing

abdH (B DL SHFHalmev HewidhdHluled Uil BCouemevdsEhdH@GHLD,  HeuTL
BT &6 UFeueOTSBLILGBLD CauenevdsEhd@Hld GILIT(HHHID?

a. LIewlsbBTel DL SHalemev b. @UUbHSH SILSHHalmev



c. QTG S SsHalenev d. BOL(PmB DI SHHaNen6e0

55.Match List I correctly with List II and select your answer using the
codes given below

List I List II
a. Uniform costing 1. Variances
b. Marginal costing 2. charging both fixed and variable
c. Standard costing 3. Same costing principles
d. Absorption costing 4. Change in volume or output
Codes:
a b C d
a. 3 4 1 2
b. 2 3 4 1
c. 4 3 2 1
d. 1 2 3 4

ulguied 1 & ulwed 2 o Ler Oummpss, &6 CarThasliul (Beien
GBuibsamen Osmeni(h Fflwrer allwLmuwd CHiHosM:

U Quiey 1 UL 1Quied 2
a. @@y gymen oI ssalenev 1. OTBILTH
b. BmIFHHBenev 6lF6v6) 2. [Hlemevwimenl WOBBID WIBILIGL DILSHHaT6N60
c. MiTeorullsbaii L
DL HH M6V 3. 968 S ssalenev CaTLTHS6I
d. ww 9IL&5alm60 4. 10TRILLL. 2 _BUSHE DleTe)]
a b C d
a. 3 4 1 2
b. 2 3 4 1
c. 4 3 2 1
d. 1 2 3 4

56.Match List I (Industries) with List II (Method of Costing) and select
your answer using the codes given below

List1 List IT

(Industries) (Method of costing)
a. Ship building 1. Operation

b. Chemical work 2. Contract

c. Transport company 3. Process

d. Printing press 4. Job

Codes:



an ow

NN - WY
W WN R T
—_ s W RN
N N oY

ulued 1 (GamevseT) & uUlluied 2 (DILSDHalene0 Hewidh@) o L 6l
QuTmGHE, SO Oarhdbaslul(Bertem GBluibsemensd OsmewiB — giluimer
alewLemwid BxiThHosHMH:

U Quied 1 UL 1Quiey 2

(QTHeOH6IT) (DILSHaNN60 HewTEhE))

a. &LIL60 &L (HLOMTEuTLD 1. BOL (DB DL HHaT6n6V

b. Geuglulwied GumImeT GHTLTUTET Geauedev 2. QUUHSH I SHHalemev

c. CuTeEIHSI HmIeUTLD 3. LIQ(penm  HeuoTdllIe0

d. &15&HFL 1D 4. LSBT DI SHBH6len60
a b C d

a. 3 4 1 2

b. 1 2 3 4

c. 2 3 4 1

d. 2 3 1 4

57.The smallest segment of activity or area or responsibility for which
costs are accumulated is
a. Cost b. Profits

c. Cost centre d. Profit centre

R FNlw sSenaleomer GFWEOLTH SieLevEH B SIMILIL] Sle0evd I GUTMIIL
FHWBBIBSTET DL SBalemne HIL(H

a. OILHBHaIM6D b. eomLID

C. 9ILHHANM60 MLOUILD d. eomu ewLOWID

58.Given the value of materials Rs. 1, 60, 000. Direct wages Rs. 2, 40, 000
expenses Rs. 50, 000. The prime cost is
a. Rs. 4,50, 000 b. Rs. 4, 00, 000

c. Rs. 5,00, 000 d. Rs. 5, 50,000
epeULIOUIT(HET  LWeUBSHHWGH  H.1,60,000 GCmIY g6l  5.2,40,000. Cwylg
¢5.50,000 (LPSHETMID DIL_HH6NeN6V 616316017

a. Rs. 4, 50, 000 b. Rs. 4, 00, 000

c. Rs. 5,00, 000 d. Rs. 5, 50,000



59.Indicate which of the statements is not true

L Cost and financial accounts are reconciled under non - integral
accounting
II.  Income tax is provided in cost accounts only

1. Dividend received but not included in cost accounts is to be

added back to costing profits for reconciliation
IV.  Rent on owned building is not included in cost accounts

Of the statements
a. Il and III are correct b. I and II are correct
c. IT and IV are correct d. IIT and IV are correct

BHIDHHWIL  FnBBIHEMET SLUIH

L. 9| SHalemev LOBWILD BB en6evsH BT H BNV, B emenibHS|

(P(DEDLDWITHTH HETSHSIWIe0LIQ FfHBL L OTLD
II. aupLomer aufl oI dHaleney HeHaIUIIe0 HeIsbHILLILBHBSI

. GupiulL uURSTHTWD DL dsalmen Samibded CaFTbsuULTHH,
gllal (B0 uUlweled SILSHalmev UTLIGHHL Sl CFTedslLbBLD
IV. 9ILézalmen  Hauibded  OFMHH  SLLLSHHBSTOT  6UTL DS

BaiTaaILBESHELEm6D
BeuBled
a. Il wpmpd I gilwmereney b.1 ompid II gFflwmereney
c. Il wmmid IV gflwrereneu d. Il wmmpid IV gflwrereme

60.Consider the following information:
Financial profits Rs. 1, 20, 000
Underabsorption of factory overhead Rs. 3, 000
Overabsorption of office overhead Rs. 8, 000

Costing profit is
a.Rs. 1,31, 000 b. Rs. 1,15, 000
c.Rs. 1, 25,000 d. Rs. 1,28, 000

SIPHBTERILIAMMMB H(HGHHL CBHT6NTH:

BHBMeVH HewIb@G LG 60TULD ¢h.1,20,000

GmBaTes FTHEH CeThBsTemen GFeve| (53,000

DIFBOTE FTHSH Dlevlalevd 0Feve] h.8,000

DI HHNM60 HeWTHHIUIGOLIY E60TLILD

a. Rs. 1, 31, 000 b. Rs. 1,15, 000 c. Rs. 1, 25,000

d. Rs. 1, 28, 000

61.The documents duly filed with the Registrar include
L Memorandum of Association



II.  Articles of Association

III.  Agreement

Iv.  List of Directors

V.  Declaration stating fulfillment of requirements
Of these

a. L IL, Il and IV b. II, III, IVand V
c. LIII,IVand V d. all of these
ugleuremfiLid ugHley QEuiwiuL. Geuewlgul &) 616U0TTHIS 6YTT6M 60T

L. DIGMIOLIL| FTF6OILD

II. CFWeO(mB Il FHB6T

. @uuUbHLD

IV. BuéGbT LLIQuled

V. CxpemeuwimerauBens LUTHFH OgulaugBaTear o nigl6ompl
BeuBled

a. L IL III wmpio IV b. IL IIL, Iv 1ommid V

c. L 1II, IV wBmiw V d. @emer SIMEIHHID

62.A person who does the necessary preliminary work incidental to the
formation of a company is a
a. Creditor b. Shareholder

c. Promoter d. Registrar

@ Bneuald CamBmeliugsBster (WaiCaBuTl B GColemnsudamend GIguILIGT
wirrir?

a. SLeHEHIT b. URIGSTFT c. Caxmmmeltiument d. ugleumert

63.Which one of the following is not a part of memorandum

a. Alteration clause b. Object clause

c. Name clause d. Capital clause
SLPSHBTRILIIBMIET 615 SIeDLIL] FTFHSHT LUGHH HewL wngl?
a. HHSS FIHIH b. Crprésmisemer F7&HH

c. Quuwit 75l d. eeuHer FJIHHI

64.The by laws of a company are its

a. Articles of Association b. memorandum of Association

c. Prospectus d. Statement in lieu of prospectus
QH HpeuaihHer FUL FH L RIS

a. Gweo(pens algsel b. SIMWLIL| FTFEID

C. HBOUD HNBIHND d. wTPIL'L S&6aI0 DBldHMme



65.A special resolution must be passed supported by the votes of the
members present in the meeting which should not be less than
majority

a. 2 b. 1 C.
4

d. 1
3 2
b Fpiy  sSmomend  HeopGaummpliuL  GeuswI(BLOTERITED  DIHMEHT60T
GMBHFSLULFID eihHmen 2 mililenseer upre CHemeu

a. 2 b. 1 C. 3 d.
3 4 4

AW

| =

66.Audit is done to detect and prevent the following errors except
a. error of omission b. error of multiplication
c. error of commission d. error of principle
SHllHmaUleT cpeold  SPHHeWIL  Llenlpdenen  HewiBLlgHSH  HBHSHBH60MD

QEDBS Haily
a. el L Uemip b. Ou(HGBSH60 Llenip
c. Gauwr Memip d. O&meTensll Llenip

67.An audit that is conducted in between two annual audits is a/an

a. Annual audit b. Interim audit

c. Special audit d. Balance sheet audit

O oLewihSH Hewndbenduller el Cui HLHSHLILBLD Hewldbendulet GLIULIT
a. WGBS HHmB b. DL BTV HewllHemnsd

c. dply sHmibens d. @mlyplenev @MIliLgS Henlldbemnsd

68.Verification of the authority and authenticity of a transaction as
recorded in the books of accounts means
a. vouching b. confirmation

c. reconciliation d. valuation

HemibCaBHeMNe0 LUFHey GFUILLILL BH6iTem BLaugHamdHHellen DISHSTTD LOBBID
FUL (pedBUWITeT BLOLS Hlewew FMUMTHH60 (penBHEG 6T6drent G

a. FMEF FLBSH HewlbHmab b. o BFULGSHHISHM

c. FTOFUIH60 d. wgHiLev

69.The method of evaluation of internal control system relate to

a. narrative record b. Questionnaire

c. Flowchart d. all of these

DB HFHE1HMND  (LpenBenl OFHLILNBD (LHEDBEHENTEUET

a. allensalIugCou® b. allermiiul 1guied

c. HBWFAN UTUIe] DI L 616w 6w d. @mel SIMETHSHID



70.The liabilities of the auditor is in the nature of
a. civil liability
b. criminal liability

c. liability arising from professional misconduct

d. all of these

Henllbenswimenfler QUTBILILS6eMN6T EUIe0L|&H6I

a. GBpalwed Frms CUTEBILLSHe6iT b. @Bmalwed &MThe GLITBILIL|E6T
c. wpewp Haupslw OBTH60 HLSHMSH d. @emeu SIMETHSHILD

71.According to the convention of conservation the stock in trade is
valued at
a. market price
b. cost price
c. market price or cost price whichever is lower

d. market price or cost price whichever is higher

LILDGmLOULIT 60T QULPH B HIGILIG QUGN B F FI&HDI(HLIL| TRl
LHUILLLGSBSI?

a. ghHhmd aleney

b. SILdsalenev

c. ghHedH almey VLG DILSHHaTme0 BFHe0 618 GHMBauTECauT DG

d. shems alemev SleL6VH DI HHalene0 61FH DHHCLT i)

72.0n which one of the following concepts is determination of expenses
for accounting period based
a. Accounting period concept b. Matching concept

c. Cost concept d. Money measurement concept
b HHSHHET DlQLIMLUTeD T HewbBTamNged CF6V6 ST  HTLDTEILD
Ceuiwiupalaiment?

a. MBS B BTV BH(HHDI b. QUTHSHHIHD H(HSHDI

C. 9ILHHANMV H(H S d. uewr sleNeiB HHHSH

73.When two or more existing companies combine together to form a new
company, it is a condition of
a. internal reconstruction b. absorption
c. external reconstruction d. amalgamation
Brenih VeV DSBS CoBul L HpeuemseT eaim Caibal e UsHw
BBeIEIHmS 2 (HoUTdH@GHD Heneoulest GUIT
a. OI5 OB ML b. Ty
C. UB @l SienLoLiL d. pmIn SenewrliL



74.In a voluntary liquidation, the liquidator realized assets worth Rs. 84,
000 and his remuneration is 3% on assets realized. What is his

remuneration
a.Rs. 1,520 b.Rs. 2,520

c. Rs. 3, 520 d. Rs. 520

HTCHT  HMEVSBLILL L. HBeueihHed SemeolimenT OuUBB  CFTHgHIbHereon
alpumerd OCFHTemd H.84,000 SlauhbaTear amgHuid DieialBuemeruied 3%
aTedlled SleuUT gl

a. . 1,520 b. 5.2,520 c. .3,520 d. e5.520

75.A Ltd. Absorbed B Ltd. For a purchase consideration payable as
follows

Preference shares of Rs. 10 - Rs. 2, 00, 000
Equity shares of Rs. 10 - Rs. 1, 00, 000
Cash Payment - Rs. 50, 000
The purchase consideration is

a. Rs. 3, 00, 000 b. Rs. 2, 00, 000

c. Rs. 2,50, 000 d. Rs. 3, 50, 000

76.The remuneration payable to the liquidator is in the form of

fixed sum of money

as a percentage on assets realized

as a percentage on amount distributed to unsecured creditors
all of these

Ao oo

77.In liquidation contributories mean
a. Shareholders b. Debenture holders
c. Creditors d. Public

78.The present value of the firms anticipated excess earnings is called
a. Profits b. goodwill
c. share d. dividend

79.Goodwill is valued at 3 years purchase of 5 years average profits.
Profits for 5 years are Rs. 2, 400. Rs. 3, 000, Rs. 3, 400, Rs, 3200, Rs. 4000.
value of goodwill is



a. Rs. 9, 600 b. Rs. 9, 000

c. Rs. 10, 000 d. Rs. 8, 600

80.0On the basic of which value, shares are considered for investment
a. Asset value b. Broker commission
c. Liability value d. Intrinsic value

81.A small scale industrial unit is considered sick if the following
conditions are satisfied.

L. Any of the borrowal account of the unit remains substandard
for more than 6 months
I1. When there is erosion in the net worth due to accumulated

losses to extent of 50% of its net worth during the previous
accounting year
III. ~ When the unit has been in commercial production for at least 2

years
Of the statements:

a.land II b. IT and III
c.Iand III d. all of these

82.District industries centre’s Programme was initiated with the objective
of developing small, tiny and cottage sector industries in the year
a. May, 1988 b. May, 1978
c. May, 1968 d. May, 1948

83.The facilities provided by small industries Development Corporation
includes
L. provision of construction sheds
II.  assistance in procuring some scarce raw materials
III.  Financial assistance to units in backward areas
IV.  Training assistance to small entrepreneurs

Of the statements
a. I, IT and III are correct b. II, III and IV are correct
c. I, III and IV are correct d. None are correct

84.The state industries promotion Corporation of Tamil Nadu Limited
commenced its activities in



a. 1971 b. 1972
c. 1970 d. 1974

85.Which of the following financial assistances provided by SIPCOT is
restricted projects to be set up in backward areas of the state
a. Term loan b. Seed capital
c. Underwriting the capital issues d. Guarantee loans

86.The data obtained by a study specifically designed to fulfil the data
needs of the problem, Which is original in character, are
a. Journals b. Secondary data
c. Reports d. Primary data

87.The pre - testing of the questionnaire on a sample basis to identify the
validity of the questionnaire is called
a. Survey b. Pilot survey
c. collection d. Information

88.Which of the following is not a secondary data

a. Reports b. Official
publications
c. journals d. Questionnaire

89.The simple arithmetic mean of the following data is
Monthly income of 5 employees (Rs.)

1 2 3 4 5

4,780 5,760 6,690 7,750 4,840
a. Rs. 5, 964 b. Rs. 6, 064
c. Rs. 5,904 d. Rs. 5, 944

90.Karl Pearson expressed the relationship between mean, median and
mode as

a. mode = 2 median - 2 mean b. mode = 3 median
- 2 mean
c. mode = 2 mean - 3 median d. mode = 3 median -

4 mean



91.Certificate of deposit is issued by which type of bank

a. Regional Rural bank b. Scheduled
commercial Bank
c. Non scheduled commercial Bank d. Reserve bank

92.An instrument which provides instant credit facilities to its holder to
variety of goods and services at the merchant outlets is
a. Debit card b. Credit Card
c. ATM d. Traveller’'s cheque

93.A debit card holder makes payment for purchases
a. after 15 days b. after 20 days
c. after a month
d. immediately through his account

94 Which bank first made the beginning to the introduction of merchant
banking services
a. SBI b. RBI
c.IOB d. Indian Bank

95.Which of the following is not a type of lease
a. Financial lease b. Operating lease
c. Leverage lease d. Periodical lease

96.The year in which the government set up the IFCI under a special Act
was
a. 1946 b. 1948
c. 1950 d. 1951

97 Which bank was established as a wholly owned subsidiary of IDBI
a. [IBI b. SIDBI
c. [FCI d. SFC

98.The term loan is not secured by
a. pledge of goods b. legal mortgage of fixed
assets



c. hypothecation of movable assets d. equitable
mortgage

99.How many members the government is empowered to nominate for
the governing body that manages the stock exchange
a. Not more than 3 b. Not more than 4
c. Not more than 2 d. None of these

100. In Salomon vs Salomon case the feature of a company established
was

a. separate property b. limited liability
c. perpetual succession d. separate legal
entity

101. The nature of advertising that aims to procure orders through mails
is known

a. direct action advertising b. trade advertising
c. professional advertising d. industrial
advertising

102. Consumer Protection Act, Section 9 provides for the establishment
of a three - tier consumer dispute redressal system namely
a. Local Forum, State commission, National Commission
b. District Forum, Regional Commission, National Commission
¢. District forum, State commission, National Commission
d. District forum, State commission, central commission

103. Which accounting provides comparative data for analysis and
interpretation for effective decision making and policy formulation

a. Financial Accounting b. Management
Accounting
c. Cost Accounting d. Corporate Accounting

104. Consider the following statements, State whether they are true or
false.
L. Management Accounting is primarily meant to assist
management in decision making



II. ~ Maintaining management accounts is a statutory requirement
for all limited companies

III. Management accounting is to be audited regularly

IV. Standard costing and budgetary control are used as control
techniques as part of management accounts.

Of the statements
I I1 I11 IV
a. True False False True
b. True True False False
C. True False True False
d. False True False True

105. Match List I correctly with List II and select your answer using the
codes given below.
List I List II
a. Historical cost 1. Variable cost
b. Budgetary control 2. Cost control
c. Marginal costing 3. Evaluate performance
d. Standard costing 4. Reveals deviations

Q0 o
WPk WN D
W W o
— NN =N
N OB RO

106. Given the sales value as Rs. 2, 00, 000 and cost of goods sold Rs.
1,40, 000. operating and non operating expenses were Rs. 20, 000 and
Rs. 15, 000respectively. Net profit ratio is
a.125% b. 12.5%

c.1.25% d. 0.125%



107. Net profit Rs. 1, 50, 000 interest on debenture Rs. 25, 000, provision
for tax Rs. 75,000, capital employed Rs. 14,50,000. ROI is
a.15.52% b. 11.38%
c. 17.24% d. 10.34%

108. Cash flows include
a. Cash receipts only b. cash payments only
c. cash and non cash income and expenses d. cash receipts and
payments

109. Given the annual cahs inflows for 5 years as Rs. 5,000 P.A. Initial
investment Rs. 25, 000. Pay back period is
a. 4 years b. 5 years
c. 3 years d. 2 years

110. On the basis of figures given, state which project is profitable under
net present value method.

Project
I I1 111
Present value of future cash flow Rs. 53,400 Rs. 56,800 Rs.58,900
Initial investment Rs. 50,000 Rs. 50,000 Rs. 50,000
a. Project I b. Project II

c. Project I11 d. All 3 Projects
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